校名			
Name	of	Scl	າດດ1

校址 Address of School

香港德明書院 HONG KONG TAK MING COLLEGE	
(1) 九龍尖沙咀漆咸道南115號達成商業大廈5-6樓	
FLOOR 5&6, TAK SING ALLIANCE BUILDING, 115 CHATHAM ROAD SOUTH, TSIM SHA TSUI,	
KOWLOON	
(2) 九龍旺角彌敦道 5 7 9 號 8 樓	
(2) 兀龍吐用獺炙迫579號8隻 8/F - 579 NATHAN ROAD, MONG KOK, KOWLOON	

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
國際會計學(四個月) ACCOUNTING - INTERNATIONAL (4 MONTHS)	3,600,00	_	4 / -	14,400.00
高級會計學(二個月) ADVANCED ACCOUNTING THEORY (2 MONTHS)	2,400.00	-	2 / -	4,800.00
高級審計學(二個月) ASSURANCE SERVICES AND AUDITING (2 MONTHS) (生物	2,400.00 枚日期 With effect fr	om : 01.09.2001)	2 / -	4,800.00
會計及銀行學(第一年級)(十個月) ACCOUNTING & BANKING (1ST YEAR) (10 MONTHS		-	10 / -	36,000.00
會計及銀行學(第二年級)(十個月) ACCOUNTING & BANKING (2ND YEAR) (10 MONTHS	3,300.00	-	10 / -	33,000.00
會計及銀行學(第三年級)(十個月) ACCOUNTING & BANKING (3RD YEAR) (10 MONTHS	3,200.00	-	10 / -	32,000.00
會計及銀行學(第四年級)(十個月) ACCOUNTING & BANKING (4TH YEAR) (10 MONTHS 會計資訊系統(一個月)	3,100.00	-	10 / -	31,000.00
曾計真武系統(一個月) ACCOUNTING AND INFORMATION SYSTEMS (1 MONTI	(1) 8,600.00	<u>-</u>	1 / -	8,600.00

頁 Page: 1 / 16

費用

- 一、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的要衝位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月費,以註冊就讀該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

FEES

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.

校名			
Name	of	Scl	າດດ1

校址 Address of School

香港德明書院	
HONG KONG TAK MING COLLEGE	
(1) 力龍小沙田漆咸道南115眺湊成商業大廈5-6樓	
FLOOR 5&6, TAK SING ALLIANCE BUILDING, 115 CHATHAM ROAD SOUTH, TSIM SHA TSUI,	•
KOWLOON (2) 九龍旺角彌敦道579號8樓	•
8/F 579 NATHAN ROAD. MONG KOK. KOWLOON	•

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
會計及會計報表(二個月) ACCOUNTING AND REPORTING (2 MONTHS)				
行政管理概論(二個月) ADMINISTRATIVE PRINCIPLES OF MANAGEMENT (2	5,800.00	-	2 / -	11,600.00
高級財務管理學(一個月)	5,500.00	-	2 / -	11,000.00
ADVANCED FINANCIAL MANAGEMENT (1 MONTH) 建築學(第一年級)(十個月)	9,600.00	-	1 / -	9,600.00
ARCHITECTURE (1ST YEAR) (10 MONTHS)	3,600.00	-	10 / -	36,000.00
建築學(第二年級)(十個月) ARCHITECTURE (2ND YEAR) (10 MONTHS)	3,300.00		10 / -	33,000.00
建築學(第三年級)(十個月) ARCHITECTURE (3RD YEAR) (10 MONTHS)	3,300.00	-	10 / -	33,000.00
建築學(第四年級)(十個月)	3,200.00	-	10 / -	32,000.00
ARCHITECTURE (4TH YEAR) (10 MONTHS) 審計學(二個月)	3,100.00	-	10 / -	31,000.00
AUDITING (2 MONTHS)	5,800.00	-	2 / -	11,600.00

頁 Page: 2 / 16

費用

- 、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的要循位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月 費,以註冊就讚該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an
 educational course by paying the first monthly instalment not earlier than one month
 before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.
- Note: Attention is drawn to Regulations 60 to 65, 67 and 101 inclusive of the <Education Regulations>

校名			
Name	of	Scl	1001

校址 Address of School

香港德明書院	
HONG KONG TAK MING COLLEGE	
/1) 中部小沙四本民港市115吨港市基準十度5 6 排	
(1) 九龍天沙咀像成垣曾 1 1 3 號達成 倒来入厦 3 — 6 懐 FLOOR 5&6, TAK SING ALLIANCE BUILDING, 115 CHATHAM ROAD SOUTH, TSIM SHA TSUI,	• •
FLOOR 580, TAK SING ALLIANCE BUILDING, 113 CHATHAN ROAD SOUTH, 151M 5HA 1501, KOWLOON	٠.
KOWLOON (2) 九龍旺角獺敦道579號8樓	•
(2) 九龍吐用爛製追579號8樓 8/F 579 NATHAN ROAD, MONG KOK, KOWLOON	

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂 費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
審計學 I (一個月) AUDITING I (1 MONTH)	9,600.00	-	1 / -	9,600.00
審計學 I I (二個月) AUDITING II (2 MONTS) 工商管理學(第一年級)(十個月)	5,500.00	-	2 / -	11,000.00
BUSINESS ADMINISTRATION (1ST YEAR) (10 MONT 工商管理學(第二年級)(十個月) BUSINESS ADMINISTRATION (2ND YEAR) (10 MONT	3,600.00	-	10 / -	36,000.00
工商管理學(第三年級)(十個月) BUSINESS ADMINISTRATION (3RD YEAR) (10 MONT	3,300.00 HS)	-	10 / -	33,000.00
工商管理學(第四年級)(十個月) BUSINESS ADMINISTRATION (4TH YEAR) (10 MONT	3,200.00 HS) 3,100.00	-	10 / -	32,000.00
經濟法(二個月) BUSINESS LAW (2 MONTHS)	4,800.00	-	2 / -	9,600.00
商事法(二個月) BUSINESS LAW AND PROFESSIONAL RESPONSIBILIT	Y (2 MONTHS) 5,800.00	-	2 / -	11,600.00

頁 Page: 3 / 16

費用

- 、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的 要衝位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月 費,以註冊就讚該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.
- Note: Attention is drawn to Regulations 60 to 65, 67 and 101 inclusive of the <Education Regulations>

校名			
Name	of	Scl	າດດ1

校址 Address of School

香港德明書院	
HONG KONG TAK MING COLLEGE	
(1) 九龍尖沙咀漆咸道南115號達成商業大廈5-6樓	
FLOOR 5&6, TAK SING ALLIANCE BUILDING, 115 CHATHAM ROAD SOUTH, TSIM SHA TSUI, KOWLOON	
KOWLOON.	•
KOWLOON (2) 九龍旺角彌敦道 5 7 9 號 8 樓	•
8/F 579 NATHAN ROAD, MONG KOK, KOWLOON	•

	學費/堂費 Tuition/TongFai	\$ 9,600.00
-	1 / -	9,600.00
- - -	1 / - 10 / - 10 / -	5,500.00 36,000.00 33,000.00 32,000.00
-	10 / -	31,000.00 3,700.00 36,000.00
	-	- 1 / -

頁 Page: 4 / 16

費用

- 、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的要循位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月 費,以註冊就讀該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.
- Note: Attention is drawn to Regulations 60 to 65, 67 and 101 inclusive of the <Education Regulations>

校名			
Name	of	Scl	າດດ1

校址 Address of School

香港德明書院	
HONG KONG TAK MING COLLEGE	
(1) 九龍尖沙咀漆咸道南115號達成商業大廈5-6樓	
FLOOR 5&6, TAK SING ALLIANCE BUILDING, 115 CHATHAM ROAD SOUTH, TSIM SHA TSUI, KOWLOON	
KOWLOON.	•
KOWLOON (2) 九龍旺角彌敦道 5 7 9 號 8 樓	•
8/F 579 NATHAN ROAD, MONG KOK, KOWLOON	•

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
土木工程學(第二年級)(十個月) CIVIL ENGINEERING (2ND YEAR) (10 MONTHS) 土木工程學(第三年級)(十個月)	3,300.00	-	10 / -	33,000.00
CIVIL ENGINEERING (3RD YEAR) (10 MONTHS) 土木工程學(第四年級)(十個月)	3,200.00	-	10 / -	32,000.00
CIVIL ENGINEERING (4TH YEAR) (10 MONTHS) 英文作文(一個月) COMPOSITION (1 MONTH)	3,100.00	-	10 / -	31,000.00
電腦應用(一個月) COMPUTER AND APPLICATIONS (1 MONTH)	8,600.00	-	1 / -	8,600.00
電腦概論(一個月) COMPUTER CONCEPTS (1 MONTH)	8,600.00	-	1 / -	8,600.00
電腦課程(一個月) COMPUTER COURSE (1 MONTH)	8,600.00	-	1 / -	8,600.00
客戶行爲學(二個月) CONSUMER BEHAVIOR (2 MONTHS)	3,700.00 4,800.00	-	1 / -	3,700.00 9,600.00

頁 Page: 5 / 16

費用

- 、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的要循位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月 費,以註冊就讚該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

FEES

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.

校名	
Name of	School

校址 Address of School

香港德明書院
HONG KONG TAK MING COLLEGE
(1) 九龍尘沙咀漆咸道南115號達成商業大廈5-6樓
FLOOR 5&6, TAK SING ALLIANCE BUILDING, 115 CHATHAM ROAD SOUTH, TSIM SHA TSUI,
KOWLOON'
KOWLOON (2) 九龍旺角獺敦道 5 7 9 號 8 樓
8/F 579 NATHAN ROAD, MONG KOK, KOWLOON

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂 費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
成本會計學(二個月) COST ACCOUNTING (2 MONTHS)	5,500.00	-	2 / -	11,000.00
電腦科學與思維(一個月) CRITICAL THINKING AND COMPUTER SCIENCE (1 M	ONTH) 8,600.00	-	1 / -	8,600.00
經濟學(第一年級)(十個月) ECONOMICS (1ST YEAR) (10 MONTHS) 經濟學(第二年級)(十個月)	3,600.00	-	10 / -	36,000.00
ECONOMICS (2ND YEAR) (10 MONTHS) 經濟學(第三年級)(十個月)	3,300.00	-	10 / -	33,000.00
ECONOMICS (3RD YEAR) (10 MONTHS) 經濟學(第四年級)(十個月)	3,200.00	-	10 / -	32,000.00
ECONOMICS (4TH YEAR) (10 MONTHS) 初級統計學(一個月) ELEMENTARY STATISTICS (1 MONTH)	3,100.00	-	10 / -	31,000.00
英國語言及英國文學(第一年級)(十個月) ENGLISH LANGUAGE & LITERATURE (1ST YEAR) (1	8,600.00 0 MONTHS)	-	1 / -	8,600.00
Z. OZION ZINOONOZ W ZITZANIONZ (TOT TZIM) (1	3,600.00	-	10 / -	36,000.00

頁 Page: 6 / 16

費用

- 、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的 要衝位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月 費,以註冊就讚該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.
- Note: Attention is drawn to Regulations 60 to 65, 67 and 101 inclusive of the <Education Regulations>

校名		
Name	of	School 5

校址 Address of School

香港德明書院 	
IONG KONG TAK MING COLLEGE	
 九龍尖沙咡漆咸道南115號達成商業大廈5-6樓 	
FLOOR 5&6, TAK SING ALLIANCE BUILDING, 115 CHATHAM ROAD SOUTH, TSIM SHA TSUI,	•
(OMTOOM.	•
XWLOON 2) 九龍旺角癩敦道 5 7 9 號 8 樓	•
8/F 579 NATHAN ROAD, MONG KOK, KOWLOON	•

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
英國語言及英國文學(第二年級)(十個月) ENGLISH LANGUAGE & LITERATURE (2ND YEAR) (1	0 MONTHS) 3,300.00		10 / -	33,000.00
英國語言及英國文學(第三年級)(十個月) ENGLISH LANGUAGE & LITERATURE (3RD YEAR) (1	0 MONTHS)			
英國語言及英國文學(第四年級)(十個月) ENGLISH LANGUAGE & LITERATURE (4TH YEAR) (1	3,200.00 O MONTHS)	-	10 / -	32,000.00
宏觀經濟學(一個月) ESSENTIALS OF MACROECONOMICS (1 MONTH)	3,100.00	-	10 / -	31,000.00
微觀經濟學(一個月)	9,600.00	-	1 / -	9,600.00
ESSENTIALS OF MICROECONOMICS (1 MONTH) 個人稅務會計學 I (二個月)	9,600.00	-	1 / -	9,600.00
FEDERAL INCOME TAX ACCOUNTING I (2 MONTHS) 個人稅務會計學 I I (二個月)	4,800.00	-	2 / -	9,600.00
FEDERAL INCOME TAX ACCOUNTING II (2 MONTHS) 財務會計及會計報表(二個月)	4,800.00	-	2 / -	9,600.00
FINANCIAL ACCOUNTING AND REPORTING (2 MONTH	(S) 5,800.00	-	2 / -	11,600.00
	3,800.00	-	21-	11,000.0

頁 Page: 7 / 16

費用

- 一、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的要衝位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月 費,以註冊就讚該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.
- Note: Attention is drawn to Regulations 60 to 65, 67 and 101 inclusive of the <Education Regulations>

校名	
Name o	f School

校址 Address of School

香港德明書院	
HONG KONG TAK MING COLLEGE	
(1) 九龍尖沙咀漆咸道南 115 號達成商業大廈 $5-6$ 樓	
FLOOR 500, TAN SING ALLIANCE BUILDING, 115 CHATHAM ROAD SOUTH, 151M SHA 1501, KOWLOON	
KOWLOON (2) 九龍旺角獺敦道579號8樓	
(2) 九龍吐角獺教道579號8樓 8/F 579 NATHAN ROAD, MONG KOK, KOWLOON	

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂 費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
財務管理學(二個月) FINANCIAL MANAGEMENT (2 MONTHS) 財務策略(一個月)	4,800.00	-	2 / -	9,600.00
FINANCIAL PLANNING (1 MONTH) 藝術學(第一年級)(十個月) FINE ARTS (1ST YEAR) (10 MONTHS)	9,600.00	-	1 / -	9,600.00
藝術學(第二年級)(十個月) FINE ARTS (2ND YEAR) (10 MONTHS)	3,600.00	-	10 / -	36,000.00
藝術學(第三年級)(十個月) FINE ARTS (3RD YEAR) (10 MONTHS)	3,300.00	-	10 / -	33,000.00
藝術學(第四年級)(十個月) FINE ARTS (4TH YEAR) (10 MONTHS)	3,200.00	-	10 / -	32,000.00
公開溝通概論(一個月) FUNDAMENTAL OF PUBLIC COMMUNICATION (1 MONT		-	10 / -	31,000.00
宏觀企業環境(一個月) GLOBAL ENVIRONMENT OF BUSINESS (1 MONTH)	8,600.00	-	1 / -	8,600.00
	8,600.00	-	1 / -	8,600.00

頁 Page: 8 / 16

費用

- 、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的 要衝位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月 費,以註冊就讀該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

FEES

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.

校名			
Name	of	Scl	າດດ1

校址 Address of School

香港德明書院	
HONG KONG TAK MING COLLEGE	
(1) 力龍小沙田漆咸道南115眺湊成商業大廈5-6樓	
FLOOR 5&6, TAK SING ALLIANCE BUILDING, 115 CHATHAM ROAD SOUTH, TSIM SHA TSUI,	•
KOWLOON (2) 九龍旺角彌敦道579號8樓	•
8/F 579 NATHAN ROAD. MONG KOK. KOWLOON	•

\$ 3,600.00	-	學費/堂費 Tuition/TongFai	\$
	-	10 / -	
			36,000.00
3,300.00	-	10 / -	33,000.00
3,200.00	-	10 / -	32,000.00
3,100.00	-	10 / -	31,000.00
3,600.00	-	10 / -	36,000.00
3,300.00	-	10 / -	33,000.00
3 200 00	-	10 / -	32,000.00
,200.00		10 / -	31,000.00
,	3,200.00	3,200.00 - 3,100.00 -	

頁 Page: 9 / 16

費用

- 、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的要衝位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月 費,以註冊就讚該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.
- Note: Attention is drawn to Regulations 60 to 65, 67 and 101 inclusive of the <Education Regulations>

校名			
Name	of	Scl	1001

校址 Address of School

香港德明書院
HONG KONG TAK MING COLLEGE
(1) 九龍尖沙咀漆咸道南115號達成商業大廈5-6樓
FLOOR 5&6, TAK SING ALLIANCE BUILDING, 115 CHATHAM ROAD SOUTH, TSIM SHA TSUI,
KOWLOON
(2) 九龍蛀角癩敦道 5 7 9 號 8 樓
8/F 579 NATHAN ROAD, MONG KOK, KOWLOON

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂 費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
人力資源學(二個月) HUMAN RESOURCE MANAGEMENT (2 MONTHS)	4,800.00	-	2 / -	9.600.00
中級會計學 I (一個月) INTERMEDIATE ACCOUNTING I (1 MONTH)	9,600.00	-	1 / -	9,600.00
中級會計學 I I (一個月) INTERMEDIATE ACCOUNTING II (1 MONTH) 中級國文(一個月)	9,600.00	-	1 / -	9,600.00
T	8,600.00	-	1 / -	8,600.00
INTERMEDIATE FINANCIAL MANAGEMENT (1 MONTH) 國際企業財務(一個月)	8,600.00	-	1 / -	8,600.00
INTERNATIONAL BUSINESS FINANCE (1 MONTH) 經濟學概論(一個月)	9,600.00	-	1 / -	9,600.00
INTRODUCTION TO ECONOMICS (1 MONTH) 初級會計(一個月)	8,600.00	-	1 / -	8,600.00
INTRODUCTION TO FINANCIAL REPORTING AND ACC	9,600.00	-	1 / -	9,600.00

頁 Page: 10 / 16

費用

- 、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的 要衝位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月 費,以註冊就讚該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

FEES

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.

校名			
Name	of	Scl	າດດ1

校址 Address of School

香港德明書院	
HONG KONG TAK MING COLLEGE	
(1) 力龍小沙田漆咸道南115眺湊成商業大廈5-6樓	
FLOOR 5&6, TAK SING ALLIANCE BUILDING, 115 CHATHAM ROAD SOUTH, TSIM SHA TSUI,	•
KOWLOON (2) 九龍旺角彌敦道579號8樓	•
8/F 579 NATHAN ROAD. MONG KOK. KOWLOON	•

課程 / 級別 Course / Class	每期學 費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
投資學概論(一個月)				
INTRODUCTION TO INVESTMENTS (1 MONTH) 初級管理會計學(一個月)	8,600.00	-	1 / -	8,600.00
が放音連音音学(一個月) INTRODUCTION TO MANAGERIAL ACCOUNTING (1 MC	NTH) 9,600.00	_	1 / -	9,600.00
營運管理概論(二個月) INTRODUCTION TO OPERATIONS MANAGEMENT (2 MC	·		1 ,	7,000.00
電腦程式診斷學(二個月	4,800.00	-	2 / -	9,600.00
INTRODUCTION TO PROGRAMMING AND PROBLEM SOI	VING (2 MONTHS) 5,500.00	-	2 / -	11,000.00
投資管理學(一個月) INVESTMENT MANAGEMENT (1 MONTHS)				
新聞學(第一年級)(十個月)	9,600.00	-	1 / -	9,600.00
JOURNALISM (1ST YEAR) (10 MONTHS)	3,600.00	-	10 / -	36,000.00
新聞學(第二年級)(十個月) IOURNALISM (2ND YEAR) (10 MONTHS)	2 200 00			22 000 22
新聞學(第三年級)(十個月)	3,300.00	-	10 / -	33,000.00
JOURNALISM (3RD YEAR) (10 MONTHS)	3,200.00	-	10 / -	32,000.00

頁 Page: 11 / 16

費用

- 、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的要循位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月 費,以註冊就讚該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.
- Note: Attention is drawn to Regulations 60 to 65, 67 and 101 inclusive of the <Education Regulations>

校名			
Name	of	Sch	റവി

校址 Address of School

香港德明書院
HONG KONG TAK MING COLLEGE
(1) 九龍小沙明漆咸道齒115號湊成商業十廈5-6樓
FLOOR 5&6, TAK SING ALLIANCE BUILDING, 115 CHATHAM ROAD SOUTH, TSIM SHA TSUI,
FLOOR Sale, TAX SING ALLIANCE BUILDING, 113 CHAIRAM ROAD SOUTH, ISIM SHA ISUI,
KOWLOON (2) 九龍旺角彌敦道 5 7 9 號 8 樓
8/F 579 NATHAN ROAD. MONG KOK. KOWLOON

Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
新聞學(第四年級)(十個月) JOURNALISM (4TH YEAR) (10 MONTHS) 管理會計學(一個月) MANAGERIAL ACCOUNTING (1 MONTH) 管理會計概論(一個月) MANAGERIAL ACCOUNTING PRINCIPLES AND SYSTI 管理經濟學(一個月) MANAGERIAL ECONOMICS (1 MONTH) 市場管理學(二個月) MARKETING MANAGEMENT (2 MONTHS) 數學(第一年級)(十個月) MATHEMATICS (1ST YEAR) (10 MONTHS) 數學(第二年級)(十個月) MATHEMATICS (2ND YEAR) (10 MONTHS) 數學(第三年級)(十個月)	3,100.00 9,600.00 EMS (1 MONTH) 8,600.00 4,800.00 3,600.00 3,300.00	- - -	10 / - 1 / - 1 / - 1 / - 1 / - 1 / - 10 / -	31,000.00 9,600.00 8,600.00 9,600.00 36,000.00 33,000.00
MATHEMATICS (3RD YEAR) (10 MONTHS)	3,200.00	-	10 / -	32,000.00

頁 Page: 12 / 16

費用

- 、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的 要衝位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月 費,以註冊就讚該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.
- Note: Attention is drawn to Regulations 60 to 65, 67 and 101 inclusive of the <Education Regulations>

校名			
Name	of	Scl	າດດ1

校址 Address of School

香港德明書院	_
HONG KONG TAK MING COLLEGE	
(1) 九龍尖沙咀漆咸道南115號達成商業大廈5-6樓	
FLOOR 500, TAK SING ALLIANCE BUILDING, 115 CHATHAM ROAD SOUTH, ISIM SHA ISUT,	•
XXMLOON (2) 九龍旺角癩敦道579號8樓	•
8/F 579 NATHAN ROAD, MONG KOK, KOWLOON	۰

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
數學(第四年級)(十個月) MATHEMATICS (4TH YEAR) (10 MONTHS)	3,100.00	_	10 / -	31,000.00
科學決策方法(一個月) METHODS OF DECISION SCIENCES (1 MONTH)	8,600.00	-	1 / -	8,600.00
海洋學(第一年級)(十個月) OCEANOGRAPHY(1ST YEAR)(10 MONTHS) 海洋學(第二年級)(十個月)	3,600.00	-	10 / -	36,000.00
OCEANOGRAPHY (2ND YEAR) (10 MONTHS) 海洋學(第三年級)(十個月)	3,300.00	-	10 / -	33,000.00
OCEANOGRAPHY (3RD YEAR) (10 MONTHS) 海洋學(第四年級)(十個月)	3,200.00	-	10 / -	32,000.00
OCEANOGRAPHY (4TH YEAR) (10 MONTHS) 企業概論(二個月)	3,100.00	-	10 / -	31,000.00
PERSPECTIVES IN BUSINESS (2 MONTHS) 財務概論(二個月) PRINCIPLES OF FINANCE (2 MONTHS)	4,800.00	-	2 / -	9,600.00
INTICITED OF THOREE (2 MONTHS)	5,500.00	-	2 / -	11,000.00

頁 Page: 13 / 16

費用

- 、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的要循位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月 費,以註冊就讚該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.
- Note: Attention is drawn to Regulations 60 to 65, 67 and 101 inclusive of the <Education Regulations>

校名			
Name	of	Scl	1001

校址 Address of School

香港德明書院	
HONG KONG TAK MING COLLEGE	
(1) 九龍尖沙咀漆咸道南115號達成商業大廈5-6樓	
ELOOD CO.C. TAV CINC ALLIANCE DILLIDING 115 CHATHAM DOAD COUTH TRIM CHA TRIL	
FLOOR 580, TAX SING ALLIANCE BUILDING, 113 CHAIHAM ROAD SOUTH, ISIM SHA ISUI,	
KOWLCON (2) 九龍旺角獺敦道 5 7 9 號 8 樓	
(2) 八龍吐用彌製道579號8樓 8/F 579 NATHAN ROAD, MONG KOK, KOWLOON	

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
宏觀經濟理論(一個月) RINCIPLES OF MACROECONOMICS (1 MONTH)	8,600.00	_	1 / -	8,600.00
数觀經濟理論(一個月) PRINCIPLES OF MICROECONOMICS (1 MONTH) 生產及營運管理(一個月)	8,600.00	-	1 / -	8,600.00
RODUCTION AND OPERATIONS MANAGEMENT (1 MO 生產營運管理(二個月)	8,600.00	-	1 / -	8,600.00
PRODUCTION/OPERATION MANAGEMENT (2 MONTHS) 專業行銷學(二個月)	5,500.00	-	2 / -	11,000.00
ROFESSIONAL SELLING AND SALES MANAGEMENT 数量分析 I (一個月)	(2 MONTHS) 4,800.00	-	2 / -	9,600.00
MANTITATIVE ANALYSIS I (1 MONTH) The control of	8,600.00	-	1 / -	8,600.00
MALL BUSINESS MANAGEMENT (2 MONTHS) 社會學及社會工作學(第一年級)(十個月)	4,800.00	-	2 / -	9,600.00
OCIOLOGY & SOCIAL WORK (1ST YEAR) (10 MON	3,600.00	-	10 / -	36,000.00

頁 Page: 14 / 16

費用

- 、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費 用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的 要衝位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月 費,以註冊就讚該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.
- Note: Attention is drawn to Regulations 60 to 65, 67 and 101 inclusive of the <Education Regulations>

校名			
Name	of	Sch	റവി

校址 Address of School

香港德明書院
HONG KONG TAK MING COLLEGE
(1) 九龍尖沙咀漆咸道南115號達成商業大廈5-6樓
ELOOD 586 TAV CINC ALLIANCE DILLIDING 115 CHATHAM DOAD COUTH TCIM CHA TCHI
FLOOR 3&0, TAK SING ALLIANCE BUILDING, 113 CHAIHAM ROAD SOUTH, 151M SHA 1501, KOWLOON
KOWLOON (2) 九龍旺角彌敦道 5 7 9 號 8 樓
8/F 579 NATHAN ROAD, MONG KOK, KOWLOON

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂 費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
社會學及社會工作學(第二年級)(十個月) SOCIOLOGY & SOCIAL WORK (2ND YEAR) (10 MON	ЛНS)			
社會學及社會工作學(第三年級)(十個月) SOCIOLOGY & SOCIAL WORK (3RD YEAR) (10 MON	3,300.00	-	10 / -	33,000.00
社會學及社會工作學(第四年級)(十個月)	3,200.00	-	10 / -	32,000.00
SOCIOLOGY & SOCIAL WORK (4TH YEAR) (10 MON 統計分析 I (一個月)	3,100.00	-	10 / -	31,000.00
STATISTICAL ANALYSIS I (1 MONTH) 稅務會計 I (一個月)	8,600.00	-	1 / -	8,600.00
TAX ACCOUNTING I (1 MONTH)	9,600.00	-	1 / -	9,600.00
稅務會計 I I (一個月) TAX ACCOUNTING II (1 MONTH)	9,600,00	_	1 / -	9,600.00
西方文化概論 I (一個月) WESTERN CIVILIZATION I (1 MONTH)		- -		.,
(生 財務分析-第一階段(六個月)	8,600.00 效日期 With effect fr	om : 01.09.2002)	1 / -	8,600.00
FINANCIAL ANALYSIS-LEVEL I (6 MONTHS)	2,400.00	-	6 / -	14,400.00

頁 Page: 15 / 16

費用

- 、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的要循位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月費,以註冊就讀該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

FEES

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.

校名		
Name	of	School 5

校址 Address of School

香港德明書院
HONG KONG TAK MING COLLEGE
(1) 九龍尖沙咀漆咸道南115號達成商業大廈5-6樓
FLOOR 300, TAK SING ALLIANCE BUILDING, IIS CHAIHAM ROAD SOUTH, ISIM SHA ISUL, KOWLOON
KOWLOON (2) 九龍旺角彌敦道 5 7 9 號 8 樓
8/F 579 NATHAN ROAD, MONG KOK, KOWLOON

課程 / 級別 Course / Class	每期學費 Tuition Fee per Instalment	每期堂 費 Tong Fai per Instalment	期數 No. of Instalment	課程總收費 Inclusive Fee per Course
	\$	\$	學費/堂費 Tuition/TongFai	\$
財務分析-第二階段(六個月) FINANCIAL ANALYSIS-LEVEL II (6 MONTHS)	3,000.00		6 / -	18,000.00
財務分析-第三階段(六個月) FINANCIAL ANALYSIS-LEVEL III (6 MONTHS)	4,000.00	_	6 / -	24,000.00
(生	数日期 With effect fr ***完END	om : 02.07.2003)		21,000.00

頁 Page: 16 / 16

費用

- 、除獲教育局常任秘書長的書面許可外,校監、校董或教師不得收取或接受上述指定費用總額以外的任何其他款項或學費。
- 二、除事前經教育局常任秘書長書面批准外,校監、校董或教師不得額外徵收入學試費用及註冊費用。各學校並須將教育局常任秘書長的該項批准與〈收費證明書〉同時以顯眼方式展示於學校的要循位置。
- 三、除非獲得教育局常任秘書長另行以書面准許,否則教育課程的費用總額須按月平均計算,並在該 教育課程進行期間的每月的首個上學日或之後繳交。
- 四、儘管上述第三段另有規定,校監可要求學生在不早於教育課程開始的一個月前繳交第一期的月 費,以註冊就讚該教育課程。
- 五、凡學生每次所繳交或他人代學生所繳交的一切款項,學校校監、校董或教員須發給正式收據。
- 六、各校未經教育局常任秘書長的書面批准,不得更改以上規定的費用總額。
- 註:請參閱《教育規例》第六十至六十五條、六十七條及一零一條的規定。

- Unless otherwise permitted in writing by the Permanent Secretary for Education, no supervisor, manager or teacher shall charge or accept payment of any money or any school fees whatsoever other than the inclusive fees as above stated.
- 2. No additional fees for entrance examinations and registration may be charged from the supervisor, manager or teacher without the previous written approval of the Permanent Secretary for Education. Such approval must be kept conspicuously exhibited at a prominent position in the school together with this Fees Certificate.
- position in the school together with this Fees Certificate.

 3. Unless otherwise permitted in writing by the Permanent Secretary for Education, the inclusive fees for an educational course shall be calculated on an equal monthly basis and collected on or after the first school day of each month of the period during which the educational course is conducted.
- 4. Notwithstanding paragraph 3 above, a supervisor may require a pupil to register for an educational course by paying the first monthly instalment not earlier than one month before the commencement of the educational course.
- 5. The payment of every sum of money by or on behalf of a pupil to a supervisor, manager or teacher shall be forthwith acknowledged in writing by such supervisor, manager or teacher on a proper form of receipt.
- 6. No change in the inclusive fee shall be made without the written approval of the Permanent Secretary for Education.
- Note: Attention is drawn to Regulations 60 to 65, 67 and 101 inclusive of the <Education Regulations>